€0-165609 ON d.L

It

LT-60-810C

Elevation View

T2

Y

Scale 1:20

Section A-

A

See following sheets for details not shown here.

e Tansportat
rans, ation
S insiitiio

Project 609591
Drawn By GES

- 149'-10" -
) 1/2" _Joint . i) _ 1/2" _JDmt - 32'-9-3/4"
in Barrier only in Barrier only ) . _
y y —m=lt—1/2" Joint in Barrier
29'-11-1/2" 29'-11-1/2" and Deck
M —a— between joints between joints )
| | . A ]
\ 1
__________________________________________________________________________________ _|.::::::::::::'."\:_::B::::::::::::::::::::’
A -
— 18" —B
- 18" —b~] 10" s ’- =12
5-1/2" —m= -\, 359-1/2" ] A — 393-3/4"
50" r‘_ !
1a. All steel components, 50 |
including hardware and fabricated *Y, u }
components, shall be galvanized. o
1b. Threads not shown on Bolts, 37" 4
Threaded Rods, etc. for clarity. A g‘ H }
—p| l—— 1-1/4" Typ
w ) . ol I=
24" 44— j b
A
s . Detail B
T 112" —mofla— Scale 1: 20
y / 11 Typ all Joints
. |

Roadside Safety and

Proving Ground
PennDOT PA Bridge Barrier

Scale1:200 Sheet 10f9 Elevation View

Physical Security Division -

2018-05-17

T:\M-ProjectFiles\609591-G-F WO #2 - Bullard\Drafting, 60959112018-05-17\609591 Drawing

TIVH 49dhd HHL 4O STTIVLAA "V XIANAddV



€0-165609 ON d.L

(44

LT-60-810C

Plan View
- 149'-10" -
- 142'-6" -
447 —o - C 90" Typ
_.’f_ !“ ’! Y
— -3 - - o - o - = = = B -3 = o g‘ o oo oo - -
13'-6" S A A S S A / AL S A Exis'tin'g Concrefe” 4 New Concrete
Y
- + 104'-0" =t + 45-10" —————— =
Nut. 3/4 h b /—Nut, 1-1/8 heavy hex
oot Sl |/ ASTM A563 Grade DH
ASTM A563 /
\ / |~ Washer, 1-1/8 clipped, 3/16" thick, 2-1/4" oD
Washer, 3/4 Lock™\ G ASTM F436
3/16" thick i ! L 5

ASTM F436 3 \ / s

_~—Rail Splice

[

?Detail C

L

Plate Washer
21/2" x 2 1/2" x 3/8"
ASTM A709 Grade 36 KSI
with @13/16" hole @ center ;
ft— 12" Typ —»]

ransportation
A lnsﬁtgga

Scale 1: 10

Roadside Safety and
Physical Security Division -
Proving Ground
Project 609591

Drawn By GES

PennDOT PA Bridge Barrier

Scale1:200 Sheet 20f9 Plan View

2018-07-20

T:\1-ProjectFiles\608581-G-F WO 2 - Bullard\Drafting, 6095911201 8-05-17\609591 Drawing



€0-165609 ON d.L

194

LT-60-810C

Post Details 3 B T
...._J-‘—‘—F
.r'f ‘\\
- 0"
O O @ 2
®1-3/8" Typ x4 —~
Y i O
S ™ @) @) 10°
i 12"
o N\ Wax31 x 25" Base Plate

Plate, 14 1/2" x 1" x 12"
ASTM A 709 Grade 50

Plan View asTtm A709 Grade 50

CJP (back gouge)

Run-off tabs required

GUZ= Siot, 1-1/4" x 1-314" —Z
0" o Typx 4 . |
o | d b
¥ - Hole and Slots I Pl
in Traffic Side
\ flange only
8-1/2" 3—-—\:\ —H-
| T 1-1/2"
) 25"
22-3/4"
vl 1o | O ==
|
|y II
AN Detail D !
— — , | P Y |
I i g i Scale 1:5
- . = \\‘-. ll
Elevation Views “—D '

3a. Mill to Bear is defined as follows: A minimum of 25% of the Post web and
compression flange end area must fit within 1/32" of the Base Plate, with no gap more than
0.040" for the remaining 75% of the end area.

3b. Galvanize all components after fabrication is complete.

3c. All welding must be performed by certified welders using industry standard practices.

/
AN |stitute

Project 609591
Drawn By GES

Isometric Views |
f Mill to Bear ™. A

/ (See 8a) ./ 5/16 o

=¢ = = =
] = ® T ®
| & 5% T%%
| — O 0 N - O
! t-r Je— - .}J
| e 0
' O Y 13/
| —1
.' ~Ysa
Ppu RTRY/%
| -
p‘ @) Y 13-1/4"
-
$1-3/16" — N T
Typ x 4 Anchor Plate

Plate, 10 1/4" x 1/4" x 15"
ASTM A 709 grade 36

Roadside Safety and
Physical Security Division -
Proving Ground

2018-05-17

Texas A&M _
Transportation

PennDOT PA Bridge Barrier
Scale 1:10 Sheet 30of9 Post Details

T:\1-ProjectFiles\609591-G-F WO #2 - Bullard\Drafting, 60959112018-05-17\609591 Drawing



€0-165609 ON d.L

144

LT-60-810C

Rail Details

0Ll L1 L0 L1
[ ]
3 o & o % : o 3 :
S W g w7 Top Rail BB o o
i1 9 W ¥, B
& T o o © N & B -
o [t BN o] - o o - % =]
-t bt i N e
| | :_ -\ :.\ |
N B N \
L . ] r T |
E -
L1 L1 1Ll L1
[ ]
& © © o i 0 =
2 B 22 Bottom Rail 3 & P
] I T 5 B =
> o I R s 2 L ’
o o o™ -— - O (30 B o o
- [ Lt [ L I y
= e W = T e 3
N H
E i e oK Eaic n|
E -
T SaE e S e SaS e Sae e S e Sas e —HSS5"x 4" x 3/8"
e '_ / ASTM A500 Grade B
T T T T T [ /[ 123/4" x 2 1/2" Threaded Anchor Stud
. ' ' ASTM A 108
|
Il : : |
T F- Rail Splice | e
Section _F'F , —HSS 4" x 3" x 5/16" x 25 1/4" | Section E-E '
Scale 1:5 ASTM A500 Grade B ! Scale 1:10
Py \. .
@3/8" x 3/4" smooth stud—" “318] = Texas A&M Roadside Safety and
ASTM A108 4 Transportation Physical Security Division -
Al ;stitute Proving Ground

4a. All welding must be performed by certified welders using industry standard practices.

4b. Galvanize all components after fabrication is complete.

Project 609591

Drawn By GES

PennDOT PA Bridge Barrier

Scale 1:40

Sheet 4 of 9

Rail Details

2018-05-17

T:\1-ProjectFiles\609591-G-F WO #2 - Bullard\Drafting, 60959112018-05-171609591 Drawing



€0-165609 ON d.L

Sy

LT-60-810C

f‘\l =
] ""_‘-- N
New Concrete Cross Section TP
- - <+ O
i 3-1/4"
R1"—,
See5b ™ :
* 24-1/2"
. Moment Slab (some existing and
.-“'I some new; see Plan View on sheet 2) o4
.I|IIII
|l."llI [ o
/ / A
an — o J o l'\"\ a a \_4;1; o"
1 Deck
¥ o
» i 14
- 79" » —See 5b
Wall 31"
Working Slab stops here at—,
existing Concrete. See 5Se "\.\
5
\
10" — @ Working Slab
o SN : AN
& ..:'\"/'i p (AN / AN Y
> "\.\ ; 3 Ay % ,’I - ; 2N
12" —= - 24" ——»= Soil—
-« 12-0" -

5a. Note 1/2" slope at top of Barrier and 1" slope on traffic face.

5b. R1"Fillet at front edge of Barrier. Chamfer 3/4" each way at back of
Deck and Barrier, four places total.

5c. Rake finish construction joint between Barrier and Deck.

5d. The concrete strength shall be as follows: Working Slab and Moment
Slab: minimum 3000 psi. Wall and Deck: 4000 psi. Barrier 3500 psi.

5e. Working Slab 12" overhang on the traffic side of the Wall is only at the
new Moment Slab sections.

g Transporati
rans datron
A it

Project 609591
Drawn By GES

Scale 1:20 Sheet 50of9

Roadside Safety and
Physical Security Division -
Proving Ground

PennDOT PA Bridge Barrier 2018-05-17
New Concrete Cross
Section

T:\1-ProjectFiles\609521-G-F WO #2 - Bullard\Drafting, 60959112018-05-17\609591 Drawing



€0-165609 ON d.L

9

LT-60-810C

Rebar Placement

Section H-H and Detail J on following sheets

Joint in Barrier only — Joint in Barrier only—-_ H-—y G-y P___7(—Joint in Barrier and Deck
%, g )
‘ \i ‘ 7 ./ \
! | | l‘r il ] _I
[ X 7 -
i e o i e ettt e i, el i i
, , H - Gas X By
Elevation View N g
o T ox
Threaded Rod, @1 1/8" x 22" = T o
ASTMF 1554 Grade 105 KSI  \  Fe—t=9 _3.9/4"
N L |
@1/2" (#4) Rebar @ 12" — @1/2" (#4) rebar ' 5 0"
in top mat in Moment Slab 1\, @1/2" (#4) Rebar @ 10-1/2" —\ (6) in Parapet | 4.3/4"
bare steel \ in top mat in Deck \ Pr—
\ nchor Plate—___ y i
N\ #6 Hook Bar @ 6"—, \_ Nut, 1-1/8 heavy hex (2)—] , 12-3/4
L bar (A) @ 12" \-.\ 2-1/2" cover \'\\ "\.\ ASTM A 563 17"
| % 7 3" cover | o0.3/4"
| I\ 5
z TN GO -Wz//// ,A O RTINS e
, /! 7 //T‘//V"///‘Z"//.‘/‘V :
#4 Dowel Pins ,f'f : \ i
12" Long, 12" on center 2 —#6 L-bar@ 7" L 2" cover
6" embeded into existing slab ) \
®1/2" (#4) Rebar (x 6) as—" —@5/8" (#5) Rebar @ 7" in — 2" cover
bottom mat in Deck and as AJ

shown in Wall - bare steel 5

shown in Wall
@ 12"—

1-1/2" cover *

¢ !

— @ 12"

o]

B3 8 0 T T (7 A 8 (S 7 O 'L;/—K-;é-;/ o 2 iy pte 3 et o /.

55 J Section G-G A S P
cover Scale 1: 20 - Typical in new Rebar, @5/8" @ 12 Rebar, ©5/8"x 11-6" @ 12
Moment Slab at each end of bare steel bare steel
installation (see Plan View, sheet 2)
Texas A&M Roadside Safety and
6a. Minimum rebar lap is 31" for #5 bars, 35" for #4 bars in the Barrier, and /“ Transportation Physical Security Division -
25" for all other #4 bars. Al institute Proving Ground
6b. All rebar is grade 60, and epoxy coated unless otherwise indicated. Project 609591 PennDOT PA Bridge Barrier 2018-05-17

Drawn By GES Scale1:200 Sheet 6of9 Rebar Placement

T:\1-ProjectFiles\609591-G-F WO #2 - Bullard\Drafting, 60959112018-05-17\609591 Drawing



€0-165609 ON d.L

Ly

LT-60-810C

Section H-H

See7a

Existing Moment Slab

| —Anchor Bar - see 7d

/ ," '_,..—L‘B Hook Bar @ 6"

_—L-bar (B) @ 12"
L-bar (B) @ 12"

7a. Section H-H is typical at existing Moment Slab. Details not shown
are same as Section G-G (previous sheet).

Th. Minimum rebar lap is 31" for #5 bars, 35" for #4 bars in the Barrier,
and 25" for all other #4 bars.

Tc. All rebaris grade 60, and epoxy coated unless otherwise indicated.

7d. The Anchor Bars weld to existing rebar (not shown here) protruding
from the runway. Minimum 3" weld, bars at maximum 18" spacing.

“—Rebar, $5/8"x 10-6" @ 12"
bare steel

= Texas A&M Roadside Safety and
/ Transportation ~ Physical Security Division -
Al institute Proving Ground

Project 609591 PennDOT PA Bridge Barrier 2018-05-17
Drawn By GES Scale 1:20 Sheet 7of9 Section H-H

T:\1-ProjectFiles\609591-G-F WO #2 - Bullard\Drafting, 60959112018-05-17\609591 Drawing



el -9 1q108loug- Ly
Bumelq 165609\ 1-50-810Z1165609 ‘Bumielgipieling - Z# OM 3-O-1656091531ld 1
ul :

M~
nhu” 1 %
oE g (3
B.O .ﬁ..m —
5> c.! o
02 WS, N
hl
. m ] >5 W
=Eg B >
el 388 |2
e, BLLs 5 -
n 52 25 359 3
i ngeo e L X
i g8 28 : .
| _ S.= m_5 2
| _ =8 382 &
— K »o O 9 o
| _ _m ? Tz &%
A _ e
| | _ o n.m @
_ "
o = &3
@ M| w i ! Iz
, T B
% g -h|u|n|n|h|nh|._rmu fr..,_ ._W A
_ _ _ ] £«
- - - LC - g " ||Iu_r ﬁ 5
i | el | % i
O et o oottt ettt = < :
“ NogEE g
- | lllllllJ.n m m 3
) i N=E
___ oy | i | “ _ E
_ hprloatomko ; ‘ 26
_ nfffmgciogeerd 1 & w
et i | tetedoteters ] mieleletetetoder b . :
K ik 18
E: 8 §
- : £
_
; N R - |
| 4 .
e _ i
= " . ;
0 B ; :
T ! g
RiEERIE ! :
s hE— : ” :
H “ ®
I RSO O N N i o
i B u
s 3 e bm] E
(=3} " _ E
. £
1 ! hprmontomko : 2 m
i . c 0
| i oo
] et by 15 ?
O LA 1 | H '
P4 i S 35
m ’ “ e 4 = M ...w.
= 8 ;  pmnirmtecht ¢ ; -
= 3 £
| H kel
‘i " St £0
= = £
i H| Lo g
Y E
y | I
. przmmmegi o €3
= ot L
" | ] w
I L | %
A i i 53
H——————-I tm &
I o v g | ey, \aed iy gy +.U 2
! " i i
i TN g3
! *’ = “ Saoejuiafes b : %
Y i e e :
od i thl\L 5 1
3 1
: | = < = 8
1 _ | & ? 3
’ 23
e | S =
| § = g3
4= - 5
o O
- £ © X
b 2

2018-09-27
8
TR No. 609591-03 4



€0-165609 ON d.L

6

LT-60-810C

- 91" -
I //< ) \
. #6 Hook Bar 4-112 —L
N B4.1/2" 299 needed .
#6 L-bar e P Pl
256 needed '
et 73" |
1_ — 1
36" f_—h— @ 4-1/2"
e . 13-10" v
. : i
L-bar (A) B 3-3/4" —A&
bare steel - 46 needed 13"
31" (= 28" ___i //ﬁ' i
[
v L o~ !
_ - Y 4
D 3/4" ] -— " @3-34"—
S = _"' % Stirrup 34
'ﬁ Y\ 122 needed
| o] 31"
sl L $3-3/4 28
25" L-bar (B)
bare steel D4" Typ —, U _ Y
Anchor Bar 46 niesded Y
bare steel | \ —D-l t— 0 5/8"
67 needed 1 . S} 1 '
\ . peg 12— B1/2" —o! e

— — H5/8"

9a. All rebar is grade 60, and epoxy coated unless otherwise indicated.

g Transporati
rans; airon
A it

Project 609591
Drawn By GES

Scale 1:10

PennDOT PA Bridge Barrier
Sheet 90of 9

Roadside Safety and
Physical Security Division -
Proving Ground

2018-05-17

Rebar Bends

T:\1-ProjectFiles\609591-G-F WO #2 - Bullard\Drafting, 60959112018-05-17\609591 Drawing





